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1. F1 i@z woenT i@ vl IE (@14 foafe 3593 2

(A) (B) (C) (D)
2. A6 T TATHTT FJ |

O 0-®=18
o+ +H =14
“-@ =2

Q+@+
(A) 15 (B) 18 (C) 12 (D) 11
3.1 (& 100 =7 forate 3 Fo17 fFrate @?
(A) 19 (B) 20 (C) 21 (D) 22
4. SATETT JTATT AFA UTUTT (AT (T SHAEST (& ?
(A)FTFT (B)STRAIT (C) WTWT (D) ©12

?

[ 98 cIfer |Page

1



. fon gy

5. A A3 IS SWYE| 9F I=F 9T A AF ITN 3T 3F 12 I=F
M IACIF 439, 94T A 97 IV Fo?

(A)12 I%=3 (B) 24 =T (C)25 I=T (D)13 I=T

6. JADE IS RELATED TO GREEN IN THE SAME WAY AS GARNET
IS RELATED TO ____

(A) RED (B) GREEN (C) BLACK (D) WHITE

7. BAZ, DBY, FCX, ?

(A) HJK (B) EDH (C) HDW (D) DHW

8. SAB, ?, QCD, PDD, OEF, NFF

(A) RBB (B) SDD (C) RCC (D) TDD

9. CHOOSE ODD PAIR OF WORDS :

(A) FISH : SHOAL (B) COW : HERD (C) SHEEP : FLOCK (D) MAN :
MOB

10. CHOOSE ODD PAIR OF WORDS :

(A) FARMER : PLOUGH (B) BUTCHER : CHOPPER (C) AUTHOR :

BOOK (D) JOCKEY : TACK

11. 3=4T 5 {7 wiiga o=, 1357 i 5 67 519, =137
Ta@ 5 5T (511, 94« (7 T STSIT (A& (@1 foid 3= 2
(A) 837 (B) 7T (C) W@ (D) 6w

12. APH AT (AF Q@ 10 5 wiiwE o1, s1377 7 10
fefers=r, e of TS AF o7 @Frafae s 2

(A) $33- 77 (B) 7T (C) Wi (D) wfEFer- P

1. CHOOSE ODD PAIR OF WORDS :

(A) FARMER : PLOUGH  (B) BUTCHER : CHOPPER

(C) AUTHOR : BOOK (D) JOCKEY : TACK
14. A=1, B=2, ... Z=26 (T 992 BAT=23, HOUSE = ?
(A)58 (B) 68 (C) 56 (D) 62
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15. fuel = 1S, FFT = fIFT9 T, Sy =2
(AITe  (B)FNFTE  (OfFF= (D)
16. fa63 @196 r=TNT 2
(A)TRNLATY  (B)TISEH  (C)AF (D)TSTSI
17. BALANCE : WEIGH : : RADAR :
(A) DETECTION (B) BALANCE (C) THINK (D) NONE OF THEM
18. SHIELD : SOLDIER : : HELMET : ______
(A) BIKE (B) CAR (C) CYCLE (D)RIDER
19. A=1, B=2, ... Z=26 (T, CD=12 T[T, MN = ?
(A)180 (B)181 (C)182 (D)183
20. BALL = 2100 , KOCHI = 57389 X[, CALL = ?
(A)21000 (B)3100 (C)3200 (D)3700
21. ST =T 9% fF 2
(A)FET (B)STFT (C) IT® (D) (FIATGIR 94X
22. Y Mg 2 5 2
(A)*1T (B) 8F (C)AFTwT (D) ©TS
23. VI 3T FQET :
AN TATF JTEAT, AFH (STHATT STAIH |
foafie eI TE___, (ST TSI, AT AT I/NT JI1 |
(A) I/ (B) ¥ (C) AFTT (D) STT®
24. I G UPIBY (FTATT SHATT FEATA?
(A) 2T (BT FTNTIYFE  (B) (FTEETG  (C) @ETE (D)
ZsIfer (T A=
25. fad7 w{ TS farm Ean?
(A)TRw a3 (B) BTARETR (C) TgF faTF (D) FTAIBR 9%
26. FXTHFA (F1F AT A(d® 27?
(A) OTY NGT  (B) BT AT (C) TMY AT (D) AT
AT
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27. Sf=% e $7 - "TeTa

(AyAfsa+3 (B)AIf6+97 (C)e+IT (D)AFS+AT

28. Wi v F3- =T

(A)TH+3WT (B)T+HBuT (C) STASHT+ I (D) STHET+T
29. AF FATT TFT FET - " AF2 WNEI NIF "
(A)fSSTTBT (B)ST2TWA (C)ET12 ©12 (D)SNY

30. F1IF oy F@T - « FIFSA =7 A18T »
(A)FSFTIF (B) FIT FIIF (C) FHFIIF (D) FAFIIF

ANSWER THE FOLLOWING QUESTIONS :
31. “BUT | HAVE NOT OILED IT YET” ~-WHO SAID THIS?
(A)BOSE (B) UNCLE PODGER (C) MULIA (D) MINISTER
32. WHO WAS MULIA?
(A)COMEDIAN (B) MALE SERVANT (C) TEACHER (D) MAID
SERVANT
33. WHAT IS THE MEANNING OF SPECIALIST?
(A)COMEDIAN (B) EXPERT (C) EMPEROR (D) MINISTER
34. WHO WAS BIRBAL?
(A)COMEDIAN (B) HISTORIAN (C)EMPEROR (D) MINISTER

FILL IN THE BLANKS WITH APPROPIATE WORDS :
35. BOSE JOINED HARE SCHOOL IN______

(A) 1866 (B) 1867 (C) 1869 (D) 1868

36. ALL OF US WANT

(A)INTELLIGENT (B) HAPPINESS (C) SADNESS (D) DULL

ANSWER THE CORRECT PAST FORM:
37. DRIVE
(A) DROOVE (B) DRIVEN (C) DRIVAN (D) DROVE
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38. SHAKE
(A) SHAKEEN (B) SHAKEN (C) SHOOK (D) SHOKE

CHANGE THE VOICE :

39. THEY ELECTED HIM CHAIRMAN.

(A) HE WAS ELECTED CHAIRMAN BY THEM.

(B) HE IS ELECTED CHAIRMAN BY THEM.

(C) HE WAS ELECT CHAIRMAN BY THEM.

(D) HE WAS ELECTED CHAIRMAN TO THEM.

40. THE CAT DRANK ALL THE MILK.

(A) ALL THE MILK WAS DRANK BY THE CAT.

(B) ALL THE MILK IS DRUNK BY THE CAT.

(C) ALL THE MILK WAS DRUNK BY THE CAT.

(D) ALL THE MILK IS DRANK BY THE CAT.

41. IRATT STF [NIFT ToAd FE@A -

AR (B)FrETSt (C)eTamE (D) fraTe

42. CTT9F ([&I21F IS F@T & 2

(AT (B)IFH OTF (C)AFTS el A 11T (D) TS et
TS

43. AT FLCT 7y 1o fota & 2

(AT 7 (B)IHTT I (C)fIFH T (D) TR T (N

44. fafag o SAfarafs gy wika o136 o7 F@ET ST a7 fF 2

(A)AETS el 2T 117 (B) 19T (C) NTNHT (D)AETS fowet
TS

45. IRATT AN ATNT [T (F 2

(A)SUFE JITIF 7T (B)AFATS e AT (C)ATS et ITIA
T (D) fFrarsit
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46. AT FTI (AT ?
(AFBET  (B) (STfes () A% (D) 43T
47. STSAF TSI NR[W STTOIE ATHT FEF F© I3 ?
(A)>99qT3 (B)>9dq13 (C)>eqT3 (D) > q19
48. "REPIER T "1 S[FTOT FIIE I 27 2
(AT a9F  (B)fF==a a9 (C)INfHT A9F (D) THIT ANF
49. T BT & " amw Af3fts 2
(A)TIRSTRTE (B)RATYd  (C)]14F (D)IZHT
50. Tl O (FT 4THT AT foaeetar?
A@E (B)W&®I (C)fIrBrd (D) FATGTR &1
51. affrET3 F2EN AT (F 1410 2
(A)IIATST  (B)tSSIT (C) TSHTITY (D) forz
52. fog oW @AW Afoe @ 2
(A) (AT AT (B) ©TI® AIMATMNET (C) ArFF HATE
(D) T IS JITTII
53. FANT F2SN 739 7 @116 ?
(AYSIIT ST5TT (B)FTF=ITTA SITSTT (C) I ST15TF
(D) ©TI® HRTATSTI
54, (SATT ©I6TF NITFOIT 27 FAF ?
(AT @) (c)af¥arE (D) (o1 @ IT
55. 51w fF?
(A)sTT (B)dSa (C)S=IS (D) STIT
56. AT Gifow Th @F1E1E 2
(A)STHT (B)BHT (C)ITa (D)W
57. S+ SAT ANT (ATS) TIH FTITS (FTAG 2
(A& (B)RUSTET  (C)(STATITET (D)STRTET
58. AT fFSIT TaoF I @F1af® 2
(AIHEFT  (B)afmT  (C)TIT SAFTFT (D) wiFT IMEHTFT
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59. (FTeT TRITE SHAT el IATTT 2
(AEfeam: (B) 3m: ffifFam: () @rEm: &7 (D) =mefeam:

60. IMHFTT F2SH NFGIH (FTAIS 7

(AT TFGN  (B)FTATRIT NFGIA (C) NTZIAT (D) (FNATGS 9%
61. 5 BTFT - 31T = F© 51T 2

(A) 3.025 BTFT (B) 3.105 BTFT (C) 3.250 BTFT (D) 3.125 GTFT
62. 0.025 x 0.05 =7

(A)0.000125 (B) 0.125  (C) 0.0125 (D) 0.00125
63. 73 + 7 =1

(A)773 (B) 7t2 (C)7*3 (D)7

64. 3% + 2%= ?

(A) 1& (B) 2% (C) 2% (D) 1%

65. 1225 97 IS F© ?

(A)25 (B)35 (C)45 (D)15

66. (-15) x ? =-90

(A) 4 (B) 16 (C) 6 (D) 8

67. 215 + 213 =F@?

(A)8 (B)12 (C)16 (D)4

68. 4a(a+b-c)=F® ?

(A) 4a® = 8ab +8ac (B) 4a® = 4ab -4ac (C) 4ad

= 4ab +4ac (D) 4a? = 4ab +4ac
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69. 4a( 3a +7b) = $9 ?

(A) 12a’+ 28ab (B) 28a?+ 12ab (C) 12a3+ 28ab (D) 12a’+
28ab

70. x2 - y2 +4x -4y AT S3ANSF fF fF 2

(A) (x+y) (x+y+4) (B) (x-y) (x+y-4) (C) (x-
y) (x+y+4) (D) (x-y) (x-y-4)

71. 16 fATBT3 10000 BTFTT F© AT ?

(A):—S T (3)23—5 ER"T(C)% T (D)2—15 T

72. 32=2’

(A)5 (B)4 (C)6 (D)8

73. X=5 (T 6x +11 = F© ?

(A)51 (B)41 (C)61 (D)81

74. X=2 A x3 + 8=F©0 ?

(A)15 (B)16 (C)28 (D)26

75. 7a -2 (5a +6b -7) = F© ?

(A)-3a-12b + 14 (B) -3a-12b - 14 (C) 3a-12b + 14 (D) 3a-
12b — 14

76. 0.000169 a7 F5f[T T 7

(A)0.003 (B)0.103 (C)0.013 (D)0.017

77. 7y + 5 =40 (A y=?

(A)5 (B)6 (C)8 (D)4
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78. a6 fafie Ao AF© FATS fF fF oy w313 2

(A)9fE 3123 T3 (B) 7f> I1=F T®eT (C) WfAfFe b Ir=7 Wy
(D) (FTETGTR =T

79. @14 fags sywma @fys afesw 2

(AFFwaTE fags (B) wowTdt fags (€) fRsR fags (D)
(FTET61R a1

80.NTNTSIEFT Fefa AFSHTHY A1aT F© 2

(A)2 (B)4 (C)8 (D)5

81. XfFrar sl ¥ fFafiwem gas @ w2
(AETTFTE  (B)BHIR  (C)HTaI™  (D)SfowsTS

82. STSIT A STIRT (T FAH (FTATT I ?

(A)RTSTT  (B)SUATHITST (C)pfosTs (D) frsrT
83. IAfaF Safawra FAF6HTE JUN F1AT 7T 2
(AFTFTST  (B)IMST  (C)7A (D) erfufer

84. FEINSGT NFGIA (FTa (T AIFFS ?

(AySCEfaT  (B) St (C)AHET (D) TIT AMHATIFT
85. S3FT (AETAN FAAATS (FTH (VT AA50 ?

(AFI3W (B (c)ufFaanfFFT  (D)TF

86. (FITSITGT X% (FT19 NIWCT AT 2

(AR (B)aFf T (C)STT AHTFT (D) WfieT AUHTHT
87. STSIN FheT ey FF 2

(A)November 14 (B)May 8 (C)October 16 (D) August 29
88. AfS=Tw F1d oI WNWF TAFT F© ?

(A)O BT  (B) ¥ HBT  (C)SX HBT  (D)}8 HebT
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89. ©TFYT (F1 TUIT SIF AIF® ?

(ASTET (B)FWT@  (CTR (D)WA

90. AFEAIGIT TN (I OTQT a1 & 2

(ASTITET  (B)FTATINS (c)zr3sT (D) faafier

91. II% ST Al ©IT F© ?

(A)Go FIMCEI/ATH  (B)80 FITAIF/ATH (C)do FITATI/ATH
(D) Yo FITCAT I/STH

92. AY A2 TGHfete I IFF ¢ 2

(AfTSEa  (B)am3on< faSod (C)SHIII8 (D)ST IS

93. ATRIWS SAfFT FIHAFITOT (& fFTmzgT F@F 2

AfSE  ByEIr@Ifed  (C)FTEHIAT  (D)FSRTN

94. (14 fSBINET FSTT AFHT 2T ?

Afeeifiim b (B)fet1ffa B (C)fetifFa A (D)fetifde

95. K (FT9 FTeT TSN AT NP FF ?

(ATOTHTS (B)MUIHME  (C)FHIIATET (D) (FTEATBIR AW

96. 00% TR AT FAFATHT 516 Soo TTF AT 5T
STHATAT 6 (FTGTR ?

(A)S.¢ Fodt orafaTT (B)S fosht oraifsmmsy (C)s.o fosht
e (D): fodt e s

97. f&WT ST AfTNTT F© AICID 2

(A)A8% (B)»C% (C)&5% (D)3¢%

98. UNICSF ¥® NI sifdw® 39?2

(A)SD>CONTIT  (B)S»8Y NI (C)S»8¢ NI (D)S>9Y NI

99. FIT fF TraT IIFT@ 2T 2

(A)ITY 1T (B)S FTAT  (C)IS TIAT (D)FIATGIR T

100. #T9v a7 o7 fF2
(A)Ah (B)Hg (C)Aq (D)Mp
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1. D 2. D 3. B 4. B 5. D
6. A 7. C 8. C 9. D 10.C
11.B 12.D 13.C 14.B 15.D
16.D 17. A 18. A 19.C 20.B
21.B 22.D 23.C 24.D 25.C
26.D 27.D 28. A 29.B 30.C
31.C 32.D 33.B 34.D 35.C
36.B 37.D 38.C 39.A 40.C
41.C 42. A 43.D 44.D 45.D
46. A 47. A 48.C 49.D 50.B
51.D 52.C 53.B 54. A 55.B
56.D 57.D 58. A 59.C 60.B
61.C 62.D 63. A 64.D 65.B
66. C 67.D 68.B 69.D 70.C
71. A 72. A 73.B 74. B 75. A
76.C 77. A 78.C 79. A 80. A
81.D 82.D 83.A 84.D 85. A
86. A 87.D 88.C 89. A 90. A
91.B 92. A 93.B 94.C 95. A
96.B 97. A 98.B 99.B 100. B
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